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i, Verifythe identities: cos' #
sin@?
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Noic:- Section B is compuleory. Anemptany THREE (3] questions from Seotian C but question No,9 is compulsory.

(SECTION-B ,u.»)

Convert EE- 1o degree:
1 ;
Find 1 when /=dcm, € q radians.

1
+5in# =casecd sh:ﬂinﬂ:wse:&&a&kfu

Write short answers to any SIX parle, (6x2=12) -éu" sz A‘.;I:ﬂ{a:.g}f 2
. Dafine reciprocal equaticn, iy Pl #

ii. Solve by factorization: 5x’=15x Sxt=15x &S i i
Convert 3v"-&x=x+20 Inlo two linear equalions. 2 LSS cvlod s Lnfaxt-x=xe20 i
Write the quadsatic squation whose ool are -1 and -7, s TSl g anst w
Find the discriminant of 9x*-30x+425=0 9x-30x+26=0 =éri“' WA v
Prove thal - = (x-)) (e-my) (x-'s) £ = () (-ay) ek i
Find fourth proporiional ta 5, 8, 15. 5,8,15 e BAF5 il
e Lwhen yu=5 und Z =7 then find k. #Z=Taw=S swes L & o A § k i
IF AAx-Ep)=2x-7y then find the ralio ¥y e vy 2w in slax-syl=ae-y fi ix
Write short answers lo any SIX parts, (6x2=12) Ly ke A Langedf 3
Define fraction. . é...gﬁd A

e “](:5 3 ;‘4 xrj; .then find the values of A and B. _.Ef(}“‘..t"ﬁﬂ A Te j:)(:s g 4+-x—3-f il

i, Converl improper fraction inlo praper fraction: (:—;ii{iﬂ ﬁ% o W AT
Defina Into function EaySSei v
If ¥={-2,12}, Inen make Iwo binary relations for Y « Y. Ealbend Y xY in v=(-202)/1 ¥
I X=(2,48....20), Yu[48,12.....24} the find Y-X EEPNKT YR (ABIR.... 24) X=(245....20)/1 vi
Define frequency distribution. .fhg,idﬂ? Usad vil
Find the modal siza of shoe for the following data: P e NGNS N F ARSI R g il
4455866, 6,7,7,5.7,588,886,56,57 44556,6,6775765B8,8658,5.7
Fird harmonic mean for the given data X [12]5 | 8 | 4 x olslela] LrintineLirds

' Write short answers 10 any SIX parts, (Bx2=12) Egur ALl A
Lol r i

I-dem, 8 ‘%radlans. ;,&aéra“'r i
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Define coterminal angle.

Define right angle. Ey S s
Dafine secant. T 10}
Define cyclic quadritateral. -é.g,i JJ:: LA
Define polygon. Ea iy
The length of the side of a regular pantagon |s 3om, What is its perimeter? s‘.;.y.lurm.q-(aéw&d'.f..,/f,ﬁ
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(SECTION-C /r.»)
{(4+4-8) .a,.ﬂr&d:m.q.dsu(a:,.»'dw.y!’..t,.r.ux.taumf.z.&f

Altempt any THREE quesbong. But question No. Y Is compulsary, Each question carrios EIGHT marks.. (4 +428)

2 -11x + 540 :F S (0).6

Saive: 211 e 80
Frovhall v o 42 —3nm ety sy i 2){v v ay ren) (re'vLmg)
f
Yy s “3mz=(x+y+z) (stayr o) (xre'yron)SEe @)
& » sl ol
it % L. then show that: e R i L Eapin! =525 @6
£ od T N oed +f bdf b d f
f Lt W . . P T )
Resolve ~—ez' I.nl.._untc. partial fraction. -a..)'-i..."-'u:_fds:ff g (b)
1 o K +h
FU=(12.34,..00), A={13.6.7.9). B- (147,10} then verily A —B=dANA
A=B 4N B a&’:.-.w?a:n. 4.7'.10}-A:{1,3.5,?.9}.U=(1.2‘3.d.....IO}."I' (a).7
Tne marks of six sludents in Mathematics are as foliow. " o
. i 7] o . it O] s
Oetermine the standard deviation, SEF AP LR S SIS L )
. Student [14) 1 2 3 4 f g 6
Morks(, ) 60 [ 70 30 . 90 L 80 42
o g ; N
fsmd = = and terminal side of the angle is not in quadrant Il Find the values of tan &, sec&,cosec!.
I
W
e oG cosect) e secl tanl 7 s s L 8 F s JiF v =t ising = :-': i (@8
V2
Druw two commeon tangents lo two touching circles af ? 4 .
tadn 2.5 em and 35 cm. .;JVJ_;’»&-&J{&S;A/Z,ﬁu'h,é‘..;,';}ui.r;! ,:‘." (b)
Frove that purpendicular from tho canlre of a circio on a chord bisects 1. .q.l:-.f..ae"'ﬁv'l . u“;,?:f.;.?’}.i._ i s .9
OR L
Frove thal the measura of a central anglo of a minar arc of a cirele s b¢-li'gﬂr’d«""»'lf"ﬁ‘-'--gz'"‘t.'f..ﬂ-....-'h B I
double thal of the angle subtunded by the corresponding major arc. e ‘;’J:u‘;;'—‘;d’ P’o:'
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